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[Time: Three Hours]

Please check whether you have got the right"q

N.B:1. QuestionNo.l is compulsory.
2. Attempt any three questions from
3. Assume suitable data if necessary and stats'it:
4. Figures to right indicates full marks. ,-l'..,.'..

Q.l. Solve any five " *; 20

(a) State and explain the four fundamental t"Utpuf,i+'6r#
(b) The distribution function for a random vari-ab1*{ii'3".'..,
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Q.2. (a) Find column
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mean.'44d varidnce of each estimator. State whether these estirnators are unbiased .
. ."\;... " ...":. . ,.

ing to variance?
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state its applications.
A=0 or B:0." Is this a true statement?

the PSD of a zero mean WSS process

itsing suitable equations

- 1 lt is desired to estimate the value of a DC
mean and uncorrelated and each sample has variance
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process.

= qr xtransforms
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Find i) the density function ii)
(c) Defirie and explain following t

i)Bias ii) Variance iii)
(d) State and explain &e
(e) I",et x be a random

x to an uncorrelated
(f) State and explain

:tr,.:* 1

system.
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10(a) Consider a linear transformation y : Ax where

Find i) Mean vector pLx ii) Autocorrelation matrix Ry

Q.6.
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(b) Consider the multiple observations x[n]= A+w[n]n:O,1, ... , N
Determine the CRLB for A"

(a) Consider following random processes

Deterniinc u'hetherthese random processes are WSS oinbl .":' 
" 
. '-, -.1 ." ,
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(b) The exponential dcnsity function is given by f*{x), *
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(b)Explainapplicationof:Dg-1,f;{Df 5,93-te1$ar4u@ignaicodingusing
block diagram.


